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y=ex|:|(-x2 ), N =§, equal spaced

y=exp(-x2), N=%1, equal spaced

-0.2 .
-3 -2 -1 0 1 2 3
10° ¥=EXP(-x2). equal spaced
K
D
1072
S
£ 10"
w
10
—5—Newton form
—»—barycentric form
108 : :

0 10 20 30 40 50 60
degree of polynomial



Error

y=exp(-x2), N=§, cheby points

y=exp(-x2), N=%1, cheby points

10°
107 ]
D
107101
—S—Newton form
Is —>—barycentric form
1015 - ; . WIPIVIIVIVIO N
0 20 40 60

degree of polynomial



y=1l(25x2+1), Ngg, equal spaced

-2.5 L
-3 2 -1 0 1 2 3
200 y=1/(25x%+1), N=21, equal spaced
0@ )
-200
-400
-600
-800
-1000 .
-3 - -1 0 1 2 3
1015 y=1/(25x2+1), equal spaced
—S—Newton form
—»—barycentric form
10%}|
—
e
—
L
105 L
10° .
0 60

degree of polynomial



Error

y= 1{(25x2I+1), Ngg, chgby pqints

_ 2 _ .
y= 1/I(25x -||-1), NR21, cheby pgmts

-0.2 .
-3 2 1 0 1 2 3
10 y=1l(25x2+1), cheby points
2 —&—Newton form )
10° } | —¢—barycentric form
101t
10°}
10!
107

0 10 20 30 40 50 60
degree of polynomial



